Federal Income Taxation 
· Terminology

· Tax base


· General concept used by lawyers and economists to describe the items to be taxed under whatever system of taxation is adopted. It represents the determination of the amount to which the appropriate tax rate is applied. 

· Gross income

· Starting point for calculating the tax base.

· §61

· All income from whatever source derived. 

· Ex. Wages, salary, interest, rent, dividends and rents.

· Congress has a lot of leeway in what they determine to be accessions to wealth as gross income.

· Gifts are excluded. 

· Gross receipts

· Different from gross income because (1) there are statutory exceptions and exclusions in gross income like gifts, and the Olympians Act and (2) when a business holds inventories of goods to sell to customers, its “gross income” in respect to those sales basically means its gross profits from those sales.

· Ex.

· If I operate a hardware store in which I sell to customers $20 hammers, that only cost me $12, my gross receipts from the sale of two hammers is $40, but my gross income is $16 (8+8). 

· Taxable income

· Under the income tax, the tax base is taxable income. 
· Includes deductions (subtractions) for the cost of earning 

· Corporations

· Use form 1120

· Corporations are presumed to exist solely to advance their business objectives

· The taxable income of a corporation is its gross income minus the expenses of earning that income (business deductions and losses)

· Adjusted gross income

· Halfway house

· Gross income minus the costs of earning that income and also minus some miscellaneous expenses that Congress felt should be treated the same as if they were costs of earning income, even if it is not technically true. 

· Ex. School supplies that teachers voluntarily buy 

· It is a weigh station on the path to calculate an individual’s tax base, that is taxable income. 

· Expenses that are not strictly necessary to earn gross income but that nonetheless reduce the tax base (home mortgage interest deductions) and arbitrary adjustments to the tax base are subtracted from an individual’s adjusted gross income, to get the taxable income. 

· Above the line expenses

· Deductions that are allowable in getting from gross income to adjusted gross income.

· The line is the adjusted gross income 

· Relate directly to earning gross income, plus some specially favored deductions.

· Below the line expenses

· Expenses that reduce adjusted gross income to get to taxable income. 

· Items that are closer in nature to personal consumption expenses.

· Standard deduction and Personal itemized deduction
· Moving from AGI to taxable income involves deducting the greater of (i) the standard deduction or (ii) personalized itemized deductions. 

· Taxpayer can’t claim both

· The functions of the standard deduction

· 1. Relieving people with modest incomes of the nuisance of keeping track of outlays covered by the itemized deduction and 

· Ensuring that people with incomes below a certain level pay no tax. 

· Personalized itemized deductions include:

· Home mortgage interest

· Non-business state and local taxes

· Disaster related casualty losses above 10% of AGI

· Medical expenses above 7.5% of AGI

· Charitable contributions

· Certain other expenses (unreimbursed employee business expenses) to the extent they exceed 2% of AGI

· Credits

· The final step is to offset the tax with any credits that may be available and to determine whether a minimum tax must be paid. 

· A credit is a direct offset to the tax.

· Ex. 

· Child care credit

· Credit for the amount of your income tax that your employer has withheld from wages. 

· Alternative minimum tax

· Deduction, Exemption, Exclusion and Credit
· Deduction

· A number that gets subtracted from your gross income or AGI in getting to taxable income. 

· Reduces tax bill by the amount of tax the deduction saves you, which in turn means your marginal tax rate multiplied by the amount of the deduction.

· Ex. If you are in the 39.6% tax bracket, a $100 deduction saves you $39.60 in cash.

· Tax credit

· Like a voucher or gift certificate

· You can use it instead of cash to pay your taxes. 

· Ex.

· A $100 tax credit is worth $100 as long as you have a tax liability where you can apply your tax credit. 

· Earned Income Tax Credit

· For the working poor

· Refundable

· The government mails you a check if you EITC is greater than your income tax bill.

· Exemptions

· Refers to taxpayers or types of income in an economic sense, that are not subject to tax. 

· Exclusion

· Some identifiable category of economic income that is not taken into account for tax purposes. 

· Ex.

· Gifts

· Tax brackets, Progressive Tax Structures and Effective and Marginal Tax Rates
· Progressive income tax

· One with average tax rates that rise as income rises. 

· The tax on a person with a high income is not just a greater amount than the tax on a person with lower income, it is a greater proportion of income. 

· Ex.

· Personal income tax

· Regressive income tax

· Where average tax rates decline with income.

· Ex.

· Social security

· Tax bracket

· Each bracket has its own tax rate

· Marginal tax rate

· Rate applied to your last (top) dollar of income. 

· Average tax rate

· Tax bill divided by your income. 

· Statutory tax rate

· Tax rates that are actually specified in §1 of the Internal Revenue Code

· Effective tax rate

· More complete measures of income or taxes than those evident through the application of the rates listed in §1 to the Code’s definition of taxable income. 

· Effective marginal tax rate

· One that reflects economic considerations not evident on the face of the Code. 

· The Code itself never uses or defines the terms “average” “marginal” or “effective” tax rates. 

· Tax Incidence

· Describes the ultimate economic burden of a tax. 

· To determine the incidence of a tax, or the burden or effect of a particular provisions of a tax system, one must compare the world with the tax or provision and the world without it. 

· Capital Gain and Dividend Income; Ordinary income, Losses and Expenses

· Income taxed at capital gain rates. 

· Capital gain or loss

· Gain/loss from the sale or exchange of a capital asset. Capital asset is statutorily defined as “property” with a number of exceptions, like inventory or property held by the tax payer primarily for the sale to customers in the ordinary course of trade or business. 

· Short term capital gain

· Gain on a sale of a capital asset held for one year or less. 

· Long term capital gain

· Gain on a sale of a capital asset held for more than one year. 

· Tax accounting

· The rules of accounting for income tax purposes mainly follow the basic approaches as financial accounting, but with two differences. The two basic methods are:

· 1. Cash method

· Amounts are treated as income when received in cash and are deductible when paid. 

· Limitation to the cash method:

· The costs of capital investments may not be deducted when the cash outlay is made, but only as the asset is used or when it is sold, exchanged or abandoned. 

· 2. Accrual method

· Items are included in gross income when earned, regardless of whether payment has been received, and items of expense are deductible when the obligation to pay is incurred, regardless of when payment is made. 

· Tax liabilities are computed on an annual rather that transaction basis. 

· Recovery of Cost, Depreciation, and Basis

· Cost recovery rules

· The cost of the machine (hypothetical) is generally spread out over a number of years according to formulas provided in the Code.

· The effect of the formula is to bunch cost recovery deductions in the early years of the use of the machine relative to its economic depreciation (wear and tear). 

· Basis

· The taxpayers cost for an asset.

· Realization and Recognition

· Realized

· A gain or loss is said to be realized when there has been some change in circumstances such that the gain or loss would ordinarily be taken into account for tax purposes. 

· Ex.

· Sale or exchange of the underlying property.

· Recognized

· It is said to be recognized when no applicable provision calls for nonrecognition that is temporary or permanent and either partially or completely disregard of the fact that a realization even occurred. 

· Where recognition occurs, there must have been realization. 

· Types of entities

· Sole proprietor

· Person who own a business solely and directly with no partners or other co-owners and no use of a corporation or other such legal device. 

· All items of business income and expense are treated for tax purpose as belonging directly to the sole proprietor. 

· Partnership

· Combination of two or more people (or entities) who have agreed to carry on a business for profits as co-owners. 

· Limited liability company

· Form of business organization with many similarities outside the tax arena to a corporation, including in particular limited liability for all investors. 

· Trust

· Legal device by which one person, the trustee, holds and invests property for the benefit of another person, the beneficiary. 

· Corporations

· Merely legal devices for organizing economic actively, they are treated as separate taxpaying entities. 

· Pay a flat rate of 21% on their income. 

· Payments of income by a corporation to its shareholders are called dividends.

· Taxable income to shareholders.

· C Corporation

· S Corporation

· Hybrid. Generally taxed as a pass through entirely (so that shareholders pay tax on their share of the S corporation’s income). But it is subject to various constraints not applicable to partnerships. 

· Popular form.

· Inflation

· Makes it difficult to levy the right amount of tax on investment income. 

· From the Self-Assessment:

· 1. Income tax taxes consumptions?

· True

· 2. Income tax taxes savings?

· False/true. Can be hybrid
· 3. Sales tax taxes consumption?

· True

· 4. Sales tax taxes savings?

· False. Double tax and encourage investment.
· 5. Spouses can be taxed as a single unit income tax filing purposes?

· True

· 6. All kinds of income are taxed at the same rate under an income tax?

· False. Like capital gains, dividends.
· 7. Someone who takes the standard deduction benefits from income tax exclusions?

· True
· 8. Someone who itemizes deductions benefits from income tax exclusions?

· False

· 9. Tax expenditures have a large impact on income tax revenues? (spending in disguise, defined as departure from the normal tax. Cost enormous amount of money. Employer provided health insurance and mortgage interest are examples of tax expenditures).  
· True 
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· The tax base and the ability to pay

· Head tax


· A tax of an equal dollar amount on everyone or at least on each person above a certain age. 
· Highly efficient because it would not distort economic behavior beyond requiring minimum engagement with the market economy to raise the funds to pay the tax.

· Ability to pay

· Attribute the might justify requiring some people to pay more tax than others.

· Declining marginal utility of income

· The wealthier you are, the less each dollar lost to the tax collector diminishes your well-being. 

· Alternative measures of ability to pay

· Most countries (US) rely on some combination of income, consumption, and wealth taxes.

· Income

· Defined by the Haig-Simons, in honor of two early proponents.
· Personal income may be defined as the algebraic sum of the (1) market value of rights exercised in consumption and (2) the change in the value of the store of property rights between the beginning and the end of the period in question.

· Y= C+S

· Y= income

· C= consumption

· S= saving

· The underlying idea is that people can do one of two things with their income (1) spend or (2) save. And the amount they end up having saved can be defines as equaling the amount by which their net worth changes.

· Y= C +     W

·      W = in the change in net worth.

· the sum of the taxpayer’s consumption, plus change in net worth, each defined in terms of the market value during a specified accounting period (taxable year).

· Ex. If you have 10K in wage income, spend 9K on beer and iTunes, and out 1K in the bank, your income for the year is 10K. your personal consumption for the year is 9K, and your wealth has gone up by 1K. 

· Consumption tax

· An income tax with a deduction for savings and with the inclusion in the tax base of amounts drawn down from savings and used for consumption, as well as amounts borrowed for current consumption. 

· “cash-flow tax”

· Can employ progressive tax rates in respect of the tax base here, annual consumption rather than annual income. 

· IRA

· Individual retirement account, amounts set aside are currently deductible in computing the amount subject to taxation. And amounts withdrawn from IRA are income. 

· Imputed income

· The value of goods and services one provides to oneself. 

· Ex. Living in one’s own home, rather than pay rent. Raising one’s child, rather than pay child services. 
· Efficiency of an Income Tax

· Reservation price

· Rate at which employee will work (Ex. $25/hour).

· Income or consumption tax has more of a behavioral effect on the taxpayer.

· Ex. If apples are taxed more and pears are not, you will eat more pears. 

· For all practical taxes you can change your tax liability by changing your behavior.

· Substitution effect

· The idea that individuals change their behavior away from what is being taxed more to something less. 

· Ex. Leisure for labor. 

· Excess burden or deadweight loss of the tax

· When an individual forgoes the opportunity to work for leisure then the government is not getting any tax revenue.
· Allocative and Distributive Effects
· Allocative effects
· Refers to the fact that government policies often change the mix of goods and services produced in the economy, when compared to a pure private market economy, through the various levers available to government (subsidies, government purchases of goods or services, regulation, favorable or onerous taxation ex.). 

· Distributive effects

· Refers to the use of government mechanisms including the tax systems, to “redistribute” income (or wealth) from rich to poor. 

· What is income anyway

· The Limits of Intuition

· From a legal perspective, income is whatever the IRC is authoritatively (and constitutionally) interpreted to say that it is. 
· Noncash Benefits
· What matters is not the form that one’s income taxes but rather the fact that the taxpayer has received an economic benefit. 

· Meals and Lodging Provided to Employers

· Silicon Valley Mouthwatering Tax Break

· In general, meals regularly provided by an employer as a taxable perk, similar to personal use of a company car. 
· “noncompensatory” reason for the “convenience of the employer” 

· Credit v. Deduction Handout

· Common for credits to have a limit. Here it is up to 2K. if you spend 2K, 15% of that is $300. If you only spend 1K, then you get $150. 
· Credit goes to reduce your tax dues. It goes at the end when you calculate your tax liability to reduce them.

· A had tax due before the credit. A taxed at 10% rate. But A got the credit. So they can reduce his tax liability by $300.

· B had 100K in tax income and $20 tax rate. So B owes 20K in taxes. B got a credit for 300, and now owes 19,750. 

· Deductions reduce taxable income they do not reduce taxes.

· So A, was 50K x 10

· With the deduction it is now 4800. 

· Why does it save B more? Because B has a higher tax rate. 

· Average rate, marginal rate and after-tax handout
· How do we get from 82K to 70K? you’re taking the standard deduction or itemized deduction. 

· Agatha Tax Problem (on powerpoint)
· Health insurance and pension contribution are exempt from gross income.

· 145K=gross income.
· 145K=AGI

· Taxable income is 133K because you take away the standard deduction of 12K. 

· What is her income tax due?

· 20K x .2=4K

· 70Kx.3=21K

· 33Kx.35=11550K

· Marginal tax rate?

· Rate at which lst dollar was taxed so, 35%

· Average tax rate?

· Tax she paid/taxable income

· 36550/133K

· What is more valuable to her of credit or deduction

· 1000 x .35

· 350

· The credit is better

· Assuming she has no other taxes to pay how much does she need to save?

· 3077

· 1-.35=.65

· Benaglia Case

· Majority said the expenses were for the “convenience” of the employer

· The court makes these expenses a working condition rather than in-kind compensation

· DISSENT

· He managed at two hotels, why does he have to be at one of them?

· He negotiated for room and board

· He was gone for long period of times

· He should be taxed on what the accommodations were reasonably worth to him. 

· Choices for valuing property:

· Retail FMV

· Cost to hotel, (average)

· Cost of alternative arrangements

· Arbitrary % of FMV

· Subjective value to him

· We could give up, and say we are going to value it at nothing

· Because Congress enacted a statute in reaction to Benaglia, so it so no longer binding or governing authority. 

· Congress enacted section 119-which governs

· How to read section 119 of the Internal Revenue Code

· Food until 2025 and lodging that meet certain specific conditions are now excluded from income under section 119, rather than under general case law. 

· Statutes and regulations are the key authorities to tax

· Think of it as an administrative agency (IRS) not a court

· Section 119(a) Meals and lodging furnished to employee, his spouse and his dependents, pursuant to employment 

· (1) if in the case of meals, the meals are furnished on the business premises of the employer

· (2) if the case of lodging the employee is required to accept such lodging on the business premises of his employer as a condition of his employment  
· Special Rule in Section 119(b)(1)

· Provisions of employment contract or state statute not be determinative for both meals and lodging. The provisions of an employment contract or a state statute fixing terms of employment not determinate re intended as compensation. 

· (b)(2)

· That a charge is made for such meals, and that the employee may accept or decline such meals, not be taken into account. 

· (b)(3)

· Fixed charges whether paid out of supposed compensation or out of personal funds do not prevent application of section 119 if the employee must pay whether accepts or declines the meals

· (b)(4)

· Can exclude value of all meals furnished to employees if for more than half, meals are furnished on the premises for the convenience of the employer. 

· More than half will allow the employer to exclude all meals offered on premises.

· Treasury Regulation 1.119-1(a)(2): Meals furnished without a charge

· Meals furnished by an employer without charge to the employee will be regarded as furnished for the convenience of the employer if such meals are furnished for a substantial noncompensatory business reason of the employer...

· Noncompensatory business reasons:

· Available for emergency call during meal period 

· Emergencies must have occurred or reasonably be expected to occur

· Section 119 (Class Discussion Problem)
· He is entitled to 119. The phone doesn’t count for much. The fact that he had responsibilities that often, and held meetings this is enough. The convenience of the employer...the need for them to have a nice house is important in Japan. Houses can become business premises. 
· Benaglia Discussion Post

· Can’t give a lot of weight to the contract. It is not dispositive. 

· He is managing two hotels, so why is it only convenient for the employer to only be on the premises of one hotel. The court will probably give it to him though because they tend to be more generous. But it is a difficult problem to determine. But benaglia is still not good law. 

· §132 Fringe Benefits

· Working condition fringes help employees do their job. 

· Ex. 

· Sportswriter needs tickets to sports benefits to do his job.

· Fringe benefits are a form of in-kind compensation

· Sports tickets to a law firm associate would be a form of in-kind compensation.  

· Can produce deadweight losses

· Deadweight loss

· Situation when what was paid for something was more than what was worth when given to that recipient. 

· Ex.

· Krystle buys me a dog bed. I don’t have a dog, so it is worth nothing to me, but she spent $20.00 on it. 

· Imagine a fringe benefit that costs the employer $100 but it is only worth $70 to the employee. 
· Main categories in §132

· No-additional cost service

· Qualified employee discount

· Working condition

· De minimis

· Transportation

· Retirement planning

· Highly compensated

· Pension rule. The amount is adjusted by inflation. Employee who earns $130K or more a year is highly compensated.

· 2017 Tax Reform Changes

· Under the tax reform, employers can no longer deduct costs of supplying transportation 

· Provision regarding bicycle commuting is gone. 

· Moving expense fringe is suspended.

· Exclusion from gross income for employer-provided health insurance-is not in §132, but §§ 105 and 106. 

· It excludes health insurance only if it is provided by the employer. 

· Compare A who has a salary of 70K and also gets health insurance worth $5K from employer, that $5K doesn’t count, A has that $70K of taxable compensation 

· B who has a salary of $75K and pays $5K for health insurance out of pocket, B still has taxable compensation of $75K. 

· A law firm can discriminate with health insurance. They can give it to associates and not to staff. 

· Turner

· Taxpayer had a salary of about $4,536 in 1948, equal to $48,000 today. He won a prize for first class team-ship tickets to Buenos Aires; he exchanges them for 4 first class tickets to Rio Dijenero. The taxpayer offered to include $520 in income, the IRS said the value should be a lot more, $2,200. The court says we are going to value it at $1,400. Why? It would be very hard to figure out what would be an equitable value. 
· Imputed income

· It is the accession to wealth that can be attributed, or imputed, to a person when they avoid paying for services by providing the services to themselves, or when the person avoids paying rent for durable goods by owning the durable goods, as in the case of imputed rent.
· Imputed Income from property

· Non-market use of property

· Goods or services that one provides to one’s self or one’s family

· Non-cash increasing wealth

· Non-market transaction

· Examples

· Buying my house to live in v. buying house to rent to others

· I don’t have to include the imputed income of the rent, which is essentially coming directly to me, paying to myself. As if I have landlord hat on one hand and a tenant hat on the other hand. 

· Imputed Income from services

· Housekeeping and childcare. Members of the family who provide housekeeping and childcare to the members of the family rather than hiring out. 

· Could we/should we tax imputed income?

· Line drawing. 

· Liberty (leisure) v. decision to enter market.

· Should this be subject to tax or it this my right to choose

· We used to let people deduct interest from personal items like boats, cars. But now we do not, and disallowing is an indirect way of getting at the income. 

· In general, we do not tax imputed income.

Gift tax

· Uncle Same says for every donor – done pair we are not going to pay attention to the first $15K. this is not income tax. But GIFT TAX.

· Duberstein is still the good tax law. Use this word. Professor thinks it’s a stupid test. Dethatched gratuity from the donor. §274(b), denies a deduction that exceeds $25. This is not adjusted for inflation. 
· Even though borrowed money is not income, if we borrow something we get basis for it. 
Problems

Answer the following questions. Explain briefly how you determined your answer.

1. In the current year, T purchases a single life annuity for $48,000.  Under the contract, T is to receive $3,000 per year for life.  T has a 24-year life expectancy.  How is T taxed on the $3,000 received in the first year?
a. Using the formula below, T is taxed on the $3,000 received in the first year: 

Exclusion ratio: Value of Policy / (yearly payment x Life Expectancy)

· $48,000 / $3,000 x 24

· $48,000 / 72,000 = 2/3 

· 2/3 of $3,000 = $2,000. 

Therefore, $2,000 is excluded from gross income. The remaining $1,000 will be included in gross income. 

2. Assume the facts in #1.  If T is still alive and receives $3,000 in the thirtieth year of the annuity payment, how is he taxed?

a. Here, unlike life insurance, the exclusion is limited to the investment. IRC §72. T must be taxed on the full $3,000 after every year the recipient outlives his life expectancy. Therefore, anything after 24 years will be taxed completely. Thus, they have $3,000 in gross income.
3. Assume the facts in #1.  If T dies after receiving nine years of payments, what are the tax consequences to T or T’s estate?

4. Yes. $2,000 x 9 years = $18,000 tax free. They have an unrecovered sum  

5. of $30,000. This will be a deduction in T’s final year. You don’t look at the 

6. other $1,000 of the $3,000 because they paid taxes on that. 

7. Yes. $2,000 x 9 years = $18,000 tax free. They have an unrecovered sum  

8. of $30,000. This will be a deduction in T’s final year. You don’t look at the 

9. other $1,000 of the $3,000 because they paid taxes on that. 

Yes. $2,000 x 9 years = $18,000 tax free. They have an unrecovered sum  

of $30,000. This will be a deduction in T’s final year. You don’t look at the 

other $1,000 of the $3,000 because they paid taxes on that. 

10. Yes. $2,000 x 9 years = $18,000 tax free. They have an unrecovered sum  

11. of $30,000. This will be a deduction in T’s final year. You don’t look at the 

12. other $1,000 of the $3,000 because they paid taxes on that. 

13. Yes. $2,000 x 9 years = $18,000 tax free. They have an unrecovered sum  

14. of $30,000. This will be a deduction in T’s final year. You don’t look at the 

15. other $1,000 of the $3,000 because they paid taxes on that. 

a. Using the formula below, the tax consequences to T or T’s estate would be:

· $2,000 x 9 years = $18,000 tax free. 
They have an unrecovered sum of $30,000. This will be a deduction in T’s final year. The $1,000 of the $3,000 does not have to be considered here because they already paid taxes on that amount. A deduction will be allowed under IRC §72(b)(3). 
4. To what extent are T and T’s spouse taxable on the $3,000 received in the current year if at a cost of $76,500 they purchase a joint and survivorship annuity to pay $3,000 per year as long as either lives and they have a joint life expectancy of 34 years? 

5. Investment in K is $76,500. Expected return is ($3,000 x 34) = $102,000.  

6. The ratio is then 3/4. 3/4 * 3,000 is $2,250 which is excluded so they will 

7. pay taxes on $750.

 Investment in K is $76,500. Expected return is ($3,000 x 34) = $102,000.  

The ratio is then 3/4. 3/4 * 3,000 is $2,250 which is excluded so they will 

pay taxes on $750.

a. The investment in the contract is $76,500. The expected return is:

· $3,000 x 34 = $102,000  
· The ratio is then 3/4 
· 3/4 x 3,000 = $2,250 
· $3,000 - $2,250 = $750

The $2,250 is excluded so they must report $750 as gross income

Assignment - Section 119 Problems
For each of the following, state whether you think the taxpayer/s can exclude the housing and/or meals under section119.  Explain the basis of your answer briefly.

1. Mr. Anderson was a motel manager who lived in the motel until his family outgrew their quarters.  The motel had a high occupancy rate, and so instead of giving him more space in the motel, the owner purchased a house in a tract two short blocks from the motel and required him to live there.

a. Under section 119, “there shall be excluded from gross income of an employee the value of any meals or lodging furnished to him, his spouse, or any of his dependents by or on behalf of his employer for the convenience of the employer, but only if... the employee is required to accept such lodging on the business premises of his employer as a condition of his employment.” Here, it is not excluded because it is clearly not on the business premises.

b. Not excluded, because not on the business premises, so it has to go in his income. None of his work happens at the house. The house itself is not a business premises. Doing stuff on the phone is not enough. 
2. When Mr. Dole was hired as assistant superintendent of Packard Mills, he was told he would be on call 24 hours a day and that he would have to live in a company-owned house approximately one mile from the mill so that he would be readily available for emergencies and conferences.  Other supervisory personnel were also required to live in company houses at the same location.  The company houses were nearer the mill than any other available housing, and Packard’s supervisory personnel were frequently called upon outside regular hours.

a. Under section 119, “in determining whether meals or lodging are furnished for the convenience of the employer, the provisions of an employment contract or of a State statute fixing terms of employment shall not be determinative of whether the meals or lodging are intended as compensation.” Here, like the scenario above, he is still off the business premises, so this would not be excluded from gross income. His employment contract is not determinative of such.

b. This is an employee employer relationship. The business premises is a rule. The housing was not the only option. It says “nearer” but that doesn’t mean it is the only option. If the houses were on the mill grounds then it would be on the business premises and it will be excluded. 
3. The president of Harvard College is required by the statutes of the university to live in Cambridge and occupies a university-owned home in Cambridge about a mile from Harvard Yard.

a. This is similar to the one above. Here, there needs to be more qualifying events that indicate this is a business premises. 

b. He might conduct business in the house, meeting of the alums, donors, welcoming students, having all sorts of functions. Whether he conducts enough business at this location for it to be deemed a secondary business premises and gets the 119. It is not because of the statute. 
4. A Veteran’s Administration doctor lives in a home on hospital grounds about a mile from the hospital itself, where he works.  A so-called housing allowance is deducted from his regular salary grade, and would be deducted as long as government housing was available, whether or not he occupied it.

a. Yes. This would be deducted from gross income. Here, he is a doctor and he is living on hospital grounds. This is a business premises. 

b. It is still on the business premises. So he will get the exclusion. §1.119-1. When someone is put in this spot, paying for it, whether he is there or not, we are not going to treat it as someone who has a true choice. 
5. Taxpayers, husband and wife, accept jobs as domestic cook and gardener for a wealthy couple who provide them a room in their house and meals in their kitchen.

a. Yes, this may be excluded from gross income. Under section 119 they meet the requirements for the lodging. It is on business premises, because they actually work there. “In the case of meals, the meals are furnished on the business premises of the employer,” therefore the meals are also qualified and may be excluded from gross income. 

b. It is on the business premises. What if they had trees that they had to cut in the middle of the night, then this would make it an exclusion for lodging.  (if the facts are not there, then speculate).
Calculating Gross Income, AGI, Taxable Income, Tax Liability, and Tax Due

Xavier is single and has no children.  He lives in Mythical State, which for our purposes is located in the middle of the United States. This year he will earn $75,000 a year as an employee of a large company selling computer equipment.  His employer provides him with health insurance worth $7,500.  This year Xavier also will have $5,000 of interest income (which is treated in the same way as salary; unlike tax rules for qualified dividends on stock, there is no special, lower rate on interest income).  Xavier owns a small condo.  

For the year, his employer will withhold $9,000 dollars from his earnings and deposited this amount in a federal account for Xavier’s federal tax liability.

Assume, for purposes of this problem, that the standard deduction is $12,000 for an unmarried individual without children.

If Xavier itemized deductions, his itemized deductions would be 8,000 in mortgage interest, $5,000 in various state taxes.

1. What is Xavier’s gross income?  Explain your answer briefly.

a. Gross income is all income from whatever source is derived. We exclude gifts and medical insurance from employer.

b. 75K (salary) + 5k (interest income) = 80K

c. Employer provided health care an exclusion from gross income. Never gets into gross income. Don’t take deduction for it.
2. What is his adjusted gross income? Explain your answer briefly.

a. Adjusted gross income is gross income – expenses of what it took to get that income (deductions).

b. 80K (gross income) – 9K (withheld)=71K

c. Same as gross income, nothing for him to deduct under §63. Didn’t have anything of the special deductions. So same as gross income. 75K
3. What is his taxable income? Explain your answer briefly.

a. AGI minus personal exemptions and the higher of either itemized deductions or standard deduction

b. 71K – 13K (8+5) =58K

c. Deduct AGI from either standard or itemized. Whichever is higher. 
d. AGI of 80K-itemized deductions (13K) = 67K. (TAXABLE INCOME)
4. Using rate table below, what is his tax liability? Explain your answer briefly. (You can round to nearest dollar.)

a. 80K-13K (8+5, itemized deductions) =67K

b. 10K x .1=1K

c. 50K x .2=10K

d. 7K x.3=2,100 

e. =13,100

f. He owes 1K on first 10K
g. He owes .2 x 40K=8K on 40K. next bracket is the 40K from over 10K to 50K- not 50K. do not count the 10K again.
h. On last 17K he owes a tax rate of .3 so $5,100. 
i. In total he owes 14,100.
5. How much of a check with he have to write/get back from the federal government? Explain your answer briefly. 

a. He actually owes the government 13,100. 

b. 13,100-9K=4,100.

c. Taxes withheld are credited against amount owed, but he needs to pay 5,100 (14,100-9000) more. 
Tax rate table:

· 10% on taxable income from $1 to $9,999.99

· 20% on taxable income from $10,000 to $49,999.99  

· 30% on taxable income from $50,000 to $99,999.99

· 35% on all taxable income above $100,000

